run_13085034 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13085034 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13085034 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13085034 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13085034 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13085034 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13085034 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13085034 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 15:27:05 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

i
120
APV channel

160

140 f—

RMS (ADC-ped)

120

100

80

60

40

20

0

180 =

160 f—

RMS (ADC-ped)

140
120 |
100
80
60 [
40

20

i
120

0

APV channel

180 =
160 [

140

RMS (ADC-ped)

120 =
100
80 |
60
40 |

20

0 1
20 40 60 80 100

[ ADC RMS for RDO=1,ARM=0,APV=16 }

i
120
APV channel

180

160

140

H‘|‘I‘I-‘I]1II

RMS (ADC-ped)

120

100

80

60

40

TTIEEFT T

20

0

20 40 60 80 100

120
APV channel




run_13085034 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sun Mar 25 15:24:56 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 15:27:06 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 15:27:41 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 25 15:25:00 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13085034 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13085034 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13085034 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13085034 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 15:25:06 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 15:27:09 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 15:27:44 2012
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run_13085034 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Sun Mar 25 15:25:11 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 15:27:10 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 15:27:45 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar 25 15:25:15 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

1000 2000

[ADC for FGT RDO=1,ARM=2,APV=1 }

3000

4000
raw ADC

2000

[ADC for FGT RDO=LARM=2,APV=2 }

3000 40(

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=2,APV=3 }

3000 40(

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=2,APV=4 }

3000

4000
raw ADC

0 1000

2000

3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

10°

° =
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B R £ PR R | R E T
< =
3000 P=f—|- <= {-t-f---- R L Rl EEL L EE R
=
P = o EEERER S RERER e R R e R R EL LR
= .
2000 f=—|- <~ {-t-f---- e R Rl EEL LR e L EE EELLELE
= i
1500 |- [« 4=t < p -~ - B B e} e e R
1000 P=t—|- A= 41 -f - - - 1 EFEE B BYUEEE £ EPE PN | DEEEETE PR P
= 8
= 8
500 et—f- - J b ponnn caallellohosdlsdscdl|sascosdza|bcazosss
= 2 8
= : :
o [ et BB e R | et e
= i i i i i i
0 20 40 60 80 100 120

[ ADC for FGT RDO=1,ARM=2,APV=1

APV channel

10°

10°

= 4000 p
5] = . . H 5 5 g
5 =
8 3500 fF— -
< =
3000 f=—
=
2500 f=— -
i
2000 fF—
=
1500 fo— |
=
1000 p=—
i
500 |5
=
0
b= . . i . . . i . . i . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=2 "}
= 4000
] = .
& = .
Q 3500 - -1 1-per - of oo -t
% =
3000 B - {-{-t-F- 424t --F - -t
=
2500 -4 {-{-f-r ooy op - e
=
2000 =
=
1500 B 4-1-1-f-r- - 1 S SSEELE ==
1000 B 4-1-1-f-r-F -4k ==
=
OV =5 O B X B Y O AR | PR PR adha
=
o -t - - e
i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
= 4000 p—
] =
& =
Q 3500 -
<

3000

2500

2000

1500

1000

500

0

10

© T TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120

APV channel

10

3 4000 p
5 =
2 3500 |- - -0 -- Jtocacdle
< £
3000 |- -+ - - - - Jbocsclls
2500 - - - - - - i
rm
2000 |- - - - - - |
=
1500 |- - - - - - - N
H
1000 P - - - - - - N .
=
500 ff—=|- - - - - - Jbocsclls
=
o -
L L . .
o 2

APV channel




run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 15:27:11 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 15:27:46 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar 25 15:25:19 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 15:27:12 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 15:27:48 2012
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run_13085034 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 15:25:24 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Mar 25 15:27:14 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 15:27:49 2012
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run_13085034 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 15:25:25 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 15:27:14 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 15:27:49 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 15:25:30 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sun Mar 25 15:27:15 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085034 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 15:27:50 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 15:25:31 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 15:27:15 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 15:27:50 2012
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run_13085034 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 15:25:35 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 15:27:16 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 15:27:51 2012
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run_13085034 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 15:25:40 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Mar 25 15:27:17 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 15:27:52 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 25 15:25:41 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 25 15:27:17 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sun Mar 25 15:27:52 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Sun Mar 25 15:27:24 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Sun Mar 25 15:27:58 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Sun Mar 25 15:26:09 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Sun Mar 25 15:27:25 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Sun Mar 25 15:27:59 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 25 15:26:13 2012
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run_13085034 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 25 15:28:00 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
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run_13085034 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sun Mar 25 15:27:27 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Sun Mar 25 15:26:19 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Sun Mar 25 15:27:28 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+ 2 : o0o505305000050505505db005052050300095053550 TR

500 |- 555005050060500000GP055300000000050903C000P00005090360050000005034 foooocooooooocoooo0cooq fFoococooooooocoooo0oo0oq foooocooooooocoooooooog fococooo

0
- i
500 120,
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=15_}

5 T
g : :
S — :
g 1500 [+ 5
< :
> .
g :
g :
1000 f+ h
500 |-
o 5

i i i i i i i

=y Q 20, 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085034 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Sun Mar 25 15:28:02 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Sun Mar 25 15:26:24 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Sun Mar 25 15:27:29 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Sun Mar 25 15:28:02 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC

Sun

Mar 25 15:26:26 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Sun Mar 25 15:27:29 2012
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run_13085034 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sun Mar 25 15:28:02 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
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run_13085034 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sun Mar 25 15:28:03 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Sun Mar 25 15:26:32 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Mar 25 15:27:30 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Sun Mar 25 15:28:03 2012
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run_13085034 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Sun Mar 25 15:26:36 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Mar 25 15:27:32 2012
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run_13085034 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Sun Mar 25 15:28:05 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Sun Mar 25 15:26:40 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 25 15:27:33 2012
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run_13085034 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 25 15:28:06 2012
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run_13085034 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Sun Mar 25 15:26:44 2012
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run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 25 15:27:34 2012
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run_13085034 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sun Mar 25 15:28:07 2012
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Sun Mar 25 15:26:49 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13085034 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Sun Mar 25 15:27:35 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085034 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
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run_13085034 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
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